U1 1a8aX3m

v~ VRSB

(R/TM1013-23-1013

(P/T) 53-253-57

KIBLDRETIE (BmR—25%F — ANBRIE~25%2TF — ANBERRE)
—HBFF — ARMRER-T I —TABRRE—TIL—TRHER~IBE

| 11B2B(@1) | #5v=yosqa | 8n-29-89 | BEES
=% BHEN =2l 3 B8 %S 900 |~ 1250 #HBRT
BE-eRsF | FREEFC| I 0 |BBE=0| 5/ K | B 8| D |ma|ex|m| | 58E1T8| 910 X Y|
R - BHEF 1 9:30 BE-EHBF | FIEERFC |ABE-D| B K
FHEsRFC 2 9:50 I M | BBE-O|nE wABF | FRERFC
R0 3 10:10 3y K |EREHSF| E I |ABFEZD
FAEE_D 4 10:30 FhgsRFC| T 0 B oK | #E-EHEF
K 5 1050 AHFE"D| B K | FWERFC| ¥ 70
RIBFER146FET | TBRHOLEE, 6 11:10 mE-Essr| I | FIESRFC|AHE=0
XRIGEAFEDBERTED/\ =2 7 11:30 FMRFC| ¥ K |m@-@#sF| T 70
8 11:50 BE-EHSF | AHE_0| FRERFC| B K
9 12110 EOF0 FH K | EEErEF | ABE-D
10 12:30 FHERFC | BHET EO0 FH K
[ 1198 | ®%5v=yusn | 8n-29-89 | BREES
=15 BHEIN =2 3 =} Ri% 900 |~ 1250 #&rT
BE-EHSS |BAHE_Q| J\EI | F B | B B | B B D|ws|exen| | BEETS| 910 X85 Y
- BHES 1 9:30 BE-EHDS | AFE-Q| K E =2 1
FEEFE—Q 2 9:50 J\EHE # E |88 eHss|BaBE=0
J\BHIL 3 10110 E ) |amE-esws| J\&H =3
= 4 10:30 AFE_—Q| /L | B U |58 s
= 5 1050 ® OE | B W |ABE-Q| /\FHi
SBEA1405F T | TBHIES0, 6 11:10 nE EAes| J\EHiL |ABEZ0| K =E
KEIBERFEDRIKRTSD/N—2 7 11:30 AFE_Q| E &l |m@Esss| J\EL
8 11:50 nE-EABs| H OB |(A%E-Q| E 1l
9 1210 J\BHE | B Y |aREAws| R OB
10 12:30 AFE_Q| & B | /&l | B @
| 1181788 | %IL—avu51A | 592959 |
=i% E YU == 4 B E5hes 930 |~ 1500 #H&®T
ZENhR| SO |BONITA| WDF | PTU—U| 8| 8| D |o=|ex|m| | 1885378 | 940 X8 =1
YR 1 10:00 EYdpR | 20E WoF |P7U-L
=) 2 10:30 BONITA | WDF | ELlhR | 2DE
BONITA 3 11:00 PT)—U| ERPR | BONITA | WOF
WF 4 11:30 =0E | BONITA | ?7U—U| ZEhR
PT)—=L 5 12:00 wonzxF |P7U-U| =hEa | BONITA
XTIU—oa VT8 ATERIEI DEETY., 6 12:30 ZE{YPhR | BONITA | EDHE WonF
7 13:00 =20 |[PTU-U| SRR | BONITA
8 1330 EhR | WDF =s0E |PT7U-L
9 14.00 BONITA | PTU—U| R | WDF
10 14:30 =ha WanF | BONITA | PTU—UL

20

20

20

20

20

20

20

20

20

20

20

20

20

20

20

20

20

20

20

20

20

30

30

30

30

30

30

30

30

30



